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section A (5 x 2 marks)
Read the following questions carefully. Choose the correct answer and write
its number 1,2 3 or 4 in the brackets provided,
L. In the number 318, which digit is in-the hundreds place?
¥ 1 (2) 8

(3) 3 (4) 18 ()

2. How many tens are there in 1537
1y 5 (2) 15

(3) 50 (4) 150 ¢ )

3. Inthe number 768, the digit 6 stands for

(1) 6 (2) 60

(3) 68 4) 600 ()

4. What is the difference between 339 and 95>
(1) 244 (2) 364

(3) 334 (4) 434 )



5. Alan has 302 pencils. He has 118 pencils less than Ron. How many pencils
does Ron have?

(1) 184 (2) 294

(3) 410 (4) 420 (

Section B (7 x 2 marks)
‘Read the following questions carefully. Write the correct answer in the
' Spaces provided.

6. I ama 3-digit number.,
The digit in the Tens place is 5.
The digit in the hundreds place is 2 less thanthe digit in the tens place.
The digit'in the ones place is equal to the sum of the digit in the tens place
and the digit in the hundreds place.
What number am I?

- Answer:

7. Arrange these numbers in order. Start with the. greatest number.

&
N Y

i .

greatest
8. Study the following number pattern. Write the missing numbers in the
boxes.
88 . l 128, 148, 168, . 208

b




9. Work out the sums. Write the missing numbers in the boxes.

10. 287 « 36 -

e

Working: _ -

11 Look at each pattern carefuily.

30 —— 240 |— 210

52 —— 2 | { Bg2

What is the missing number in the box? Answer: ' J

12: T have $69 in my piggy bank.
I receive $179 for my birthday.
How much money do T have altogether?

$

Answer:




Section € (2 x 3 marks)
Read the following questions carefully. Show your workings and write your
number and answer statements clearly.

i3. Aaron had 546 marbles.
He gave 123 marbles to his brother and bought another 21 marbles.
How many marbles did he have left?

Woaorking
i4. Shanna has 250 ribbons. .
Jane has 78 more ribbons than Shanna.
How many ribbons do they have altogether? :
Working

~ ~~ End of Paper ~ ~ ~
4
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13 1 32 a1 5)4 6)358

7)623,‘___:_3‘_62,""3;2'6, 236  8)108,188  9)368-96=274
N ;05387+36=321§ | _{11)'§i4

i 12)179+69 =$248 i
13)__5_;4 . 93=423

. 423121=344
'He had 444 marbles left.

14)250478=328
250+328=578
They have 578 ribbon altogether. R



